	Tuesday, July 13, 2010


	Spitsbergen In Depth
R/V Akademik Ioffe


	Alkefjellet & Lågøya, Svalbard


	06:00
	Early Bird coffee is served in the Lounge



	07:00
	Wake-up call



	07:30
	Breakfast is served in the Dining Room

	09:00                  


	We plan to zodiac cruise Alkefjellet
Alkefjellet, simply meaning Auk Mountain or Mount Guillemot, is a spectacular bird cliff on the northeast of Lomfjordhalvøya, Ny Friesland. The sheer cliffs, which are over 100 metres in height, would be worth a visit even without any bird presence, however, the large breeding colony of Brünich’s guillemots is the obvious main attraction. During the summer season, several tens of thousands of breeding pairs occupy every square inch of rock ledge, causing the appearance of constant frantic activity. Exact counts of the birds have not yet been made, but estimates are in the order of 60,000 breeding pairs. We plan to zodiac cruise Alkefjellet as the terrain offers a unique and close approach to the bird cliffs, whereas at other sites bird cliffs may be several hundred metres above sea level. 

	12:30

14:00
	Lunch is served in the Dining Room

The Gift Shop will be open

	15:00


	For those in port side cabins, please join our ornithologist Sam in the Presentation Room on Deck 1 for The Skies of Svalbard
For those in starboard side cabins, please join our historian Scott in the Dining Room on Deck 3 for All Points North: Exploration From Svalbard


	16:30
	For those in port side cabins, please join our historian Scott in the Dining Room on Deck 3 for All Points North: Exploration From Svalbard
For those in starboard side cabins, please join our ornithologist Sam in the Presentation Room on Deck 1 for The Skies of Svalbard

	18:00
	Your Bartender, Diane, invites you to enjoy a cocktail during Happy Hour in the Bar (Deck 3) 

	19:00
	Dinner is served in the Dining Room  

	20:30
	We plan to land at Lågøya 
The areas surrounding Lågøya are some of the least visited in Svalbard. This is mostly due to the fact that the few indications of depth on nautical charts suggest dangerous shallows surrounding the island. This means a longer than usual Zodiac ride from the ship in open waters. The reward, however, is a very individual landscape. Lågøya means “low island”, and it truly owes its name to its landscape characteristics. It is a former coastal plain, and it continues far underwater; depths only reach 15 metres when over 3 miles north of the island. Historically speaking, it has been a good location for polar bear encounters.

	
	GENERAL INFORMATION:

Doctor: Mark Freedman- Cabin 538 - Phone 667 (Deck 5, starboard side, opposite the Clinic)
Reception: Phone 622 (Deck 3)
Hotel Office: The Hotel Office is located on Deck 3, Aft, towards the Bar
Radio Room: Phone 616 (Deck 6, adjacent to the Bridge)

Bridge: Phone 666 in case of emergency (Deck 6)
Gift shop opening times will be announced via the Public Announcement system



Why are glaciers blue?
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	Snow begins as tiny droplets of water which join together high in the atmosphere and eventually fall to Earth and may freeze if temperatures are cold enough, forming snow.

Fresh snow is fluffy mass of loosely packed snowflakes.

If the temperature remains cool, the snow flakes shrink to less distinct grains. If more snow falls, then the grains become buried and increasingly compacted forming ‘firn.’

With more time and burial, the snow becomes ice as the smallest ice grains re-crystallise, cementing all the grains together. 




This process may take only a few years, but usually takes about 10-20 years.

A glacier starts with abundant winter snowfall that does not melt away in the summer.

A glacier is blue because it absorbs the red part of light, allowing a brilliant blue to radiate out. If you think of light as really made up of all the colours of a rainbow, the red part is moving ‘slower’ (longer wavelength) and the blue end of light is moving ‘faster’ (shorter wavelengths).

Snow is white because there is a lot of air between the snow grains, so all the light is scattered back to you. With glacier ice, there is very little air between the ice grains, so only the blue light can get through, the slower wavelengths of light having been absorbed by the ice grains. The deeper the blue, the less air there is trapped in the ice to allow light to pass through.
